ALGEBRALC STHTEMENT

Task 1- Identify each of the following statements as Task 2 — Work out the value of a that makes the
an expression, equation, identity, or formula. following identities true.

1) 3x+5 16) x +a=x+5

2) 2y-7=9 17) x—a=x-6

3) 5x+2)=5x+10 18) 2x +a=2x+9

4) A=mr? 19) 6x + a = 6x— 4

5 4n+3 20)a(x + 4) = 5x + 20

6) 2p+6=18 21) a(x-3) = 7x - 21

7) x+32=x>+6x+9 22)a(3x + 5) = 12x + 20

8) V=%mr 23)a(4x-2) = 20x-10

9) -2 24)a(x + 2) = 9x + 18

10) 7x -4 = 2x + 1 25)a(5x-7) = 20x - 28

1) a®-b?>=(a-b)(a + b) 26)a(x + 1) +3=7x+10

12) C = 2mtr 27)2a(x-4) = 14x - 56

13) 3(2x = 1) 28)a(x +3)-5=4x+7

14) x> +5x+6=0 29)3a(x-2) + 2 =15x - 28

15) (m + 4?=m? + 8m + 16 30)a(2x + 5) -7 = 10x + 18
www.genmathsresources.com © GenMaths Resources 2025




